| Efficiency vs Dxy | | fake+duplicates vs dxy |
005 N N N N N N N N N 05

= T Y e e e
e Iy T==wwmmn
008k o
o g g

0025 025
002 02

% [N o e e
o e O

T ™ = o e e

1.

IIII:IIII:IIII:IIII:IIII’IIII:IIII:IIII:IIII:IIII J..\.Q

=
!
i
=
!

098 56-15-10 =5 05 10 15 20 25 098 56-15-10 =5 05 10 15 20 25

—=— DQM_TT__mkFit-DQM_time_orig2

| Efficiency vs Dz |
0.4

e e s 07

—— DQM_TT__mkFit-DQM_time_mod2

0,08~
N 0.6

Q.07+t B

.06 05
005 0.4

e e e 03

0.03f ol b

0 11 e S

IIII:IIII:IIII!IIII!IIII:IIII JHLQIIII:IIII:IIII.IIII:IIII:IIII

1.




	Contents
	Page 1


